
Thousands Margin of error ±, 1000s Percent Margin of error ± percent
total 101,0 2,9 .. ..
unemployed 4,3 1,7 5,7 2,1
not in the labour force 25,2 4,3 .. ..
employed 71,4 4,5 70,7 4,2
total 97,4 3,0 .. ..
unemployed 4,9 1,8 7,7 2,6
not in the labour force 33,1 4,1 .. ..
employed 59,4 4,2 60,9 4,4
total 198,4 2,5 .. ..
unemployed 9,2 2,5 6,6 1,6
not in the labour force 58,4 5,8 .. ..
employed 130,8 6,2 65,9 3,1
total 93,1 3,6 .. ..
unemployed 3,8 1,0 5,6 1,5
not in the labour force 25,8 4,4 .. ..
employed 63,5 4,8 68,2 4,6
total 86,8 3,0 .. ..
unemployed .. .. .. ..
not in the labour force 30,4 4,3 .. ..
employed 53,4 4,0 61,5 4,7
total 179,9 3,1 .. ..
unemployed 6,9 1,3 5,6 1,0
not in the labour force 56,1 5,9 .. ..
employed 116,9 6,2 65,0 3,3

Data type: Average

Units: Thousands: 1000s
Units: Margin of error ±, 1000s: 1000s
Units: Percent: percent
Units: Margin of error ± percent: percent

Source: Statistics Sweden
Latest update: 20220318 08:00
labour status: employed: observations: Margin of error ± percent: Employed as a percentage of the population
labour status: employed: observations: Percent: Employed as a percentage of the population

observations: Margin of error ± percent:

observations: Margin of error ± percent:

2021

Population aged 15-74 (LFS) by region, sex, labour status, year and observations, 2021

Västerbotten county

Norrbotten county

men

women

total

men

women

total

observations: Margin of error ±, 1000s:

Because the LFS is a sample survey based on a national random probability sample, there is a degree of uncertainty that can be calculated. The presented information consists 
of estimations and consideration must be taken to uncertainty/margin of error when drawing conclusions. The interval that is created by the level estimation ± margin of error 
here is a 95 percent confidence interval, which is an interval with a 95 percent probability including the actual value.

The presented margin of error corresponds to a 95 percent confidence interval.

Unemployed as percentage of labour force. The labour force consists of employed and unemployed persons.

Unemployed as percentage of labour force. The labour force consists of employed and unemployed persons.

labour status: unemployed: observations: Percent:

labour status: unemployed: observations: Margin of error ± percent:

As the LFS is a sample survey, all estimations are subject to uncertainty. Uncertainty in estimations based on fewer than 20 observations on a monthly or quarterly basis or 
fewer than 40 observations on a yearly basis may be considered too large and the estimation is not reported. In these cases, the value is replaced with two periods [..].
As of 1 January 2021, the LFS is carried out in accordance with the new EU framework regulation. This means there is a break in time series between 2020 and 2021. 
 <a href = "https://www.statistikdatabasen.scb.se/pxweb/sv/ssd/START__AM__AM0401/">The Statistical Database, data from 2021</a> 
 <a href = "https://www.statistikdatabasen.scb.se/pxweb/sv/ssd/START__AM__AM0403/">The Statistical Database, data up to and including 2020</a>
.. = Data not available

The presented margin of error corresponds to a 95 percent confidence interval.

Because the LFS is a sample survey based on a national random probability sample, there is a degree of uncertainty that can be calculated. The presented information consists 
of estimations and consideration must be taken to uncertainty/margin of error when drawing conclusions. The interval that is created by the level estimation ± margin of error 
here is a 95 percent confidence interval, which is an interval with a 95 percent probability including the actual value.

observations: Margin of error ±, 1000s:


